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C>F

Process

F->C

Process

Wrong

select
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#include <stdio.h>
main(void)
{

int loop,select;

char exit;

float temp,c,f;

do
{

printf(" ******************************\l’l");

printf("* Transform Temperature *\n");
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printf("*******************************\n”).
]

printf("\n Please select menu :1-3 only");

printf("\n 1) Transform C->F");

printf("\n 2) Transform F-> C");

printf("\n 3) Exit");

printf("\n You select:");

scanf("%d",&select);

if(select ==1)

{
do{

printf("\nTransform C-> F");

printf("\n Enter Cencius Temperature : ");
scanf("%f",&c);

f= ((c*9)/5)+32;

printf("\n Farenhi Temp = %.2{",f);

printf("\n Do you want to continue? Yes or No (Y/N) :");
scanf("%c", &exit);

scanf("%c", &exit);

}while(exit !'='n");

}

else if(select ==2)

{
do{

printf("\nTransform F-> C");

printf("\n Enter Farenhi Temperature : ");
scanf("%f",&f);

c= (f-32)*5/9;

printf("\n Cencius Temp = %.2{",c);

printf("n Do you want to continue? Yes or No (Y/N) :");

scanf("%c", &exit);
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scanf("%c",&exit);
}while(exit !="n'");
H
else if(select !=3)
printf("\n Select Wrong Number");

}while(select 1= 3);
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#include <stdio.h>
main(void)
{
int loop,select;
char exit;
float temp,c,f;
do
{

printf(" ******************************\n");

printf("*  Transform Temperature *\n");
PHNER(HH bt ok \ ) 1)
printf("\n Please select menu :1-3 only");
printf("\n 1) Transform C->F");

printf("\n 2) Transform F-> C");

printf("\n 3) Exit");

printf("\n You select:");

scanf("%d",&select);

switch(select)

{

case 1:
do{
printf("\nTransform C-> F");
printf("\n Enter Cencius Temperature : ");
scanf("%f",&c);
f= ((c*9)/5)+32;
printf("\n Farenhi Temp = %.2{",f);
printf("\n Do you want to continue? Yes or No (Y/N) :");
scanf("%c", &exit);
scanf("%c", &exit);

twhile(exit !="n");
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break;
case 2:
do{
printf("\nTransform F-> C");
printf("\n Enter Farenhi Temperature : ");
scanf("%f",&f);
c= (f-32)*5/9;
printf("\n Cencius Temp = %.2f",¢);
printf("\n Do you want to continue? Yes or No (Y/N) :");
scanf("%c",&exit);
scanf("%c",&exit);
twhile(exit !="n");
break;
case 3: select =3;
break;
default : printf("\n Select Wrong Number");
break;
§
}while(select 1= 3);
H
3) ﬂ/uﬁﬂhh/‘lﬁ’clulﬂullwgprogram7_2.c
4) 1donsde Compile tazl¥tiudinna
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Transform Temperature =
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Pleaze select menu :1-3 only
Transform C-> F
Tranzform F-> C
Transform C-> K

Exit
select:




